Lab 9 - Throughput Measurement using TTCP 

Throughput measurement with ttcp

1. Install ttcp (gcc –o ttcp ttcp.c)
2. Use TCP to test ttcp in loopback interface on a single computer

a. Start ttcp in receive mode  (ttcp –r > /dev/null)

b. Start another copy in transmit mode using TCP with a file greater than 1 MB in size  (ttcp –t localhost < filename)

3. Record the loopback throughput in Kbps

4. Change the buffer sizes ranging from 64KB to 512KB in increments of 32KB using the   –l (letter L) option to specify the buffer size and measure the throughput.   Plot the throughput vs. buffer size.

5. The –T option causes the sending ttcp to “touch” each byte of data as it is written to emulate processing.   Repeat the TCP measurement (without the –l option) with the –T option set.  How much is throughput affected?

6. Repeat the TCP measurement with various file sizes (a small size, much larger size, etc.).   Does throughput vary with file size?  If yes, how much does it vary?   Why is this the case?   
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